I—52
gAY A o shAfeY | B EH By

RERF 15 EOFRER
LAREX S22 %88 ol MG
" 2 rE 2

FL3 -
EAREO B S o RE 0 AL FERE KB L BF 19 Roll A
FEEGT L -9 —nl otlch . REoTAME £ L1455 . GRBogr Bl ot s
LB etr ko bt LG T (h, GERANEACTRUEHT T 5
BO BTN 157 B EobretFAR TRt Kt T AN B8Ry
ny%, HEEGERI A BB RS T tEL L Wh, Tolkb. RRokErt &
DT T oS B M < &5 RACETARS 2B s, 2. BHalkFcbrn
Lo Bl 2 hs ih LR BEroBEmeirt B s dics s Lt 8B h b,
InETF RS GEBo BB Liitro LB B E ). BE6H BB 70T
Qoo s 4715 .
#3218
Balws Ktk o Lo K W
HLECHhs . BBl @ 2 BB 0t v N
FnBdt4s. 70 ->A-2R =
#3144 &2 v BTAAEY (35X o
/Y18 hr. B- 1 RHiL:c
sy BEito B 67 4. HAK m-1 #EBRED
#usb=02F b= oty ) RN LIT 015 .
it AL A
TUERBIE S SHE L (2L 30 Ao Fi(EndihF e b £ 15t B s nik Wk iph ¢ PFimw
mestrL Lt o BoFh o
fronGend oo MR 0 L1 T T T T T j.
ir&?ﬂh%dﬂ&&< LhionZidf oamms o T
FTh . THEWHLE L LLkEI D
SBH o WEIBE 030 (5 BRI A o /<
72N SaonE@H v T R
ki R

&wﬁz Semydn W
;T

I EE

I—52-1



3. UWEKGSWR/T (Wit) BB RR) tAL T AXzUMATH 22T T 5,

l
0x(4)= 0/0(/(32.52 /5;/(;1) an =0s/77" % 42

oL dn @
YT 14T

S O BHBASBRRE . Sy BEBREAE Hit 2 A7) - 1 fanofdy-MeComic)
-2 cAOctedIBHT -7 o sHR o nEGtro v b L, m#kaRN@ s
l[%‘rgd’ ‘I/LEOVM) zt‘%b e %ﬁ@ K%%% h“a‘FHEB%YE] [ GV ﬁ;ﬁ(abﬁ‘&l} Paﬂb‘&gky-Mcfprm:(_ 0

2N LT DZLABTIS .

S rBEEcarEATR vh 215
/éﬂ: 2 ug iﬁ?,ﬁ @E)’E\ﬁi\'fﬁ\ﬁ%c'@
Phknr. @3 cko 257, BETE
BN =020 Elis EfERIT 02~
o) Loy 3<E>7 32 vh.4f
By - ld=lo MEETH S .

T4 ¢ By o BRIGE K 007) 2
HEBER - B TH S, o BRI E
o0 T (FYRLE T = 9lsms) 48
4% & Ran= eXP (K" /T) T 10 AL
3 K=~ bkl - . B5r2
Hi st SR (Z220MEE E (=,
K= Thark LT vs., KERPER
Y YRIGIEL 5 o 1= o BIEBE ov
Bty thisns.,

DR BEEY o 2 s F
FRe -5 7. BgfoBd Irh
OMTRY LD fEGRB L 20 /s

0t Kb & f 5 R EAE L BN

(=t o0 1Bt T L=, 2T S
T BERLR ) BB | B o kE Ik
oy 2 el BRRE 4TS =
hrey K L AothR  BRRE
Bl KEBPEe i - 1= S s /8y T
e RPATE PRI I

R(N)

1.0

R(n)=exp (-n/Ly)
Ly=10.6m (%9
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1302-B (N)13.8 m/s
1302-C (N)13.7 m/s
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